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1. Ans. b 

Explanation: 
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2. Ans. c  

 Explanation: 
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3. Ans. c 
 

4. Ans. a 

 Explanation: 

  

x ds lkis{k vodyu djus ij] 

  

 

5. Ans. a 

Explanation:  
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 6.  Ans. b 

 Explanation:  

ekud fopyu
( )

 =  fopj.k  

= 
100 10

 

lekUrj ek/; dh x.kuk
X

fuEu lw= }kjk gksxh % 

cgqyd = 3 ekf/;dk – 2 ek/;  

29 (3 23) 2
 ek/; 

ek/; = 
(69 29) / 2 20

 

fopj.k xq.kkad(CV)  = 
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7. 
 

Ans. c 

  
8. Ans. b 

Explanation: 

 By Option 

  
9. Ans. d 

Explanation: 
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10. Ans. d 

  
11. Ans. b 

  

12. Ans. c 

  
13. Ans. a 

  
14. Ans. a  

  
15. Ans. a 

  
16. Ans. a 

 

17. Ans. d 

 

18. Ans. a  

 

19. Ans. a  

 

20. Ans. d 
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21. Ans. b 

 
22. Ans. b 

 

23. Ans. b 

 

24. Ans. c  

 
25. Ans. a  

 

26. Ans. c 

 
27. Ans. a 

 

28. Ans. b  

 

29. Ans. c  

 
30. Ans. c  

 

31. Ans. c  

 
32. Ans. a 

 
33. Ans. c  

 
34. Ans. d 

 
35. Ans. a  
 

36. Ans. a  

 
37. Ans. c 

 

38. Ans. d  

 
39. Ans. b 

 

40. Ans. c 

 
41. Ans. c  

 

42. Ans. d  

 
43. Ans. b 

 
44. Ans. a  

 
45. Ans. a 

 

46. Ans. b  
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47. Ans. b  

 

48. Ans. c 

 
49. Ans. a 

 
50. Ans. d 

Explanation:  

vfHk"V rjhdksa dh la[;k = 4!×3! = 144 

 

51. Ans. b 

 Explanation :  

x rFkk y nks pjksa ds e/; dk lglEcU/k xq.kkad 'kwU; gksus ij izfrixeu js[kk;sa yEcor vFkkrZ 

ledksf.kd gksrh  gSA 

 

52. Ans. b 

 Explanation :    
         

        
 

         
   

       
 

              

 
53. Ans. a  

 
54. Ans. c 
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55. Ans. c 

  
56. Ans. b 

Explanation:  

Chain index number for  

1993 : 103
100

100103
 

1994 : 15.108
100

105103
 

1995 : 13.121
100

11215.108
 

1996 : 82.130
100
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57. Ans. b 

Explanation: 
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 =  
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58. Ans. b 

 
59. Ans. b  

Explanation:  

f(x) = xx 42
 

          F(x) = AA 42
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60. Ans. c  

Explanation:  

D= P 
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 P = 1,20,000 

  
61. Ans. d 

 Explanation: 

 E = 1001
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62. Ans. a  

Explanation: 

CI = P P
r

n
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CI = 5,000 000,5
100

2
1

2

 

   = 202 

D = 202-200 = Rs. 2 

  

63. Ans. b 

 Let the sum borrowed be x. Then, 

Rs.12,000borrowedSumHence,
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64. Ans. c 

  
65. Ans. b 

  
66. Ans. a 

  
67. Ans. b 

  
68. Ans. b 

Explanation: 

 

or  

or n = 8 

then  

  
69. Ans. d 

  

70. Ans. a 

  
71. Ans. d 

  
72. Ans. a 

  
73. Ans. c 

Explanation:  

rjhdksa dh la[;k = 4P3 × 4! 

  = 24 × 24 = 576 

  
74. Ans. c   

 

75. Ans. b 

  
76. Ans. a 

  

n 2 n 2
C Cr 10 r

n 2 r 10 r

6C8 28
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77. Ans. d  

 

78. Ans. c 

  
79. Ans. c 

  
80. Ans. c  

  
81. Ans. d 

  
82. Ans. b 

  

83. Ans. d    

 Explanation: 

 
2)(xE  rFkk 

2])([ xExE  nksuksa gh fopj.k gSA
 

  
84. Ans. c 

 Explanation: 
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85. Ans. A 

   
86. Ans. a 

Explanation:  
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 R = Rs. 1,94,016.75 

  
87. Ans. c 

Explanation: 

 A = P
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88. Ans. b  

 Explanation : 

 1900
100

rx3x6000

100

rx2x10000
 

 r= 5%  

 

89. Ans. b 

  
90. Ans. a 

  
91. Ans. a 

  
92. Ans. c 

  
93. Ans. a 

  
94. Ans. a 

  
95. Ans. d  

 
96. Ans. b 

 Explanation:  

Coefficient of range = SL

SL

 

Where for largest value 

for smallest value  

Coefficient of range = 5

3

50

30

1040

1040

 

 
97. Ans. b 

Explanation: 

G.M. =                           

=    
 

 

98.  Ans. c 

 

99. Ans. b 

 Explanation:  

 Less than ogive & more than Ogive intersect at a point called MEDIAN or we can say 

second quartile.  

 
100. Ans. a 
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